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5 1 FoF SMT gest & i % o & an & s 8
Which statement gives the advantage of using SMT components?

a. SMT wewwdt d/ SMT components are expensive

b.  SMT st = frenaw gfer 8/ Rework of SMT components is difficult

¢. sAPCB i are evmar s gaar 3/ Can be mounted on both sides of PCB

d. ¥%oR s & € % SR gerer givea e € / Difficult to handle as it is small
in size S

T PCB Rt e 3 fore STy sy 6 ST et 5 Fei
Liquid cleaner usually used for localized PCB cleaning

‘a.  omdalugy uRre / Isopropyl acid

b. emEsEa sewEe / [sopropyl aleohol

¢. omEmmie sresiEia / [sopropanoic alcohol -
d. endumife ofie / [sopropanoic acid

e Tt o e 9T B, LRSI

Voltage drop across a closed switch

a. w1 3a / Nearly Zero

b. ewie/ Infinite

¢. 3w aees / Applied voltage

d. 39w i ¥ =5 7 / None of the above

ard, ariot afwitees witgy #, T 9 SR atmded i A @ Ay YRS

In a half wave rectifier circuit, frequency of input and output waveform is related
by

a. fout = fin

b, fow =21
¢. fLu=051%,
d. fou =48,

i, it ot qaferor #, PCB ot t, e & sramn 8, 39 ... @ed §
Coating that protects the PCB assembly from moisture, dust in harsh
environment

a. ergfga / Conformal

b. F=w/ Thermal
¢, nfes / formal
d. fuemwfiv / Silkscreen

ire A fereror % Tert Sicdsr T Y WRH F 3G ..., BT TN BT ST R

To provide constant voltage, independent of load current variations, use
a. gatm/ Comparator

b. e yerds / Voltage amplifier

c. dwew fammes / Voltage regulator

d. ==t/ Buffer
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afg Vp a7t &7 firet Siedsr 3 @ rms e ... @
If Vp is peak voltage of a sine wave then rms voltage will be

a. Vp/2
b. Vp/\2
c. Vpt/2
d Vp/4
ST TGS TR S kel o1 TN T &

Voltage stabilizer type which uses motor is
a. Agem warRw / Manual operated

b.  wmEnfem it / Automatic relay

c. @foe des / Static Voltage

d. =&l frEf / Servo controlled

drat s, (PCB) fesiiga 5 wir frg s ardt afe mil ....... % 99 Sar 2
Unit mil used in PCB designs is equal to

a, Uk §9 %1 @& g9 31 / One thousandth of an inch

b. = %1 wF @t One hundredth of an inch

C. U % uF g@at / One tenth of an inch

d. ww$F s us st/ One fifth of an inch

gt & g e R S et Seet w1 g  wftaf S g SET S
Commonly used solder in electronics is a metal alloy made by combining
a. ferewr/ Tin-Lead |

b. &/ Iron-Lead

c. fer—a@r/ Tin-Iron

d. @fer- dfar / Iron-Copper

Th 2reat wHTia ST uftas i wiaemn ... gt d
Impedance of an ideal parallel resonance circuit is

a. or@ / Infinite

b. =/ Zero
¢c. 1K ohms
d

" 3utre F ¥ &t 72 / None of the above

IR o 3o £ s 1000mAH & @t frafefe # 2 w1 w2 |
If a battery has a capacity of 1000mAH, then which of the following is true _

A, T8 UF R F R um i 1A B @ g 2
It can source 1A of current for one hour

b. INFRuwumwHr 0.5A SieaHawwE
It can source 0.5A of current for two hour’

C. agaﬂﬁ.ﬁ%%%qszﬁahaﬁrm%

It can source 2A of current for half an hour
d. wwirEwt / All of the above

3 .
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diter 3mafd 7 e wdlugs digyd # U gitafdd o smar ®
An inverter module in a power supply converts
ACaDC /ACTODC

DC®AC /DCTO AC

ACTAC /ACTOAC

DCsDC /DCTODC

G ooop

foefafiga 111111110111110117 denei =t femuwt @ veymee # 9fEfda Sy
Convert the following number 111111110111110111 from binary to
hexadecimal

a. FDFIO
b. 3FDF7 -
c. FFE3l
d. 1FED2

ity % ferg peres § ELCBs & sl faean smar ¢

- ELCBs are mainly used in circuits for

a. =9 dwes og g / Protection against under voltage

b.  reafle dles @ guan / Protection against over voltage
c. o % T @ gean / Protection against current leakage
d. g ufy @ g / Protection against short circuit

Rating of a transformer is given in

a. KV
b. KA
c. KW
d. KVA

afg 3319 AND 2 # 9113 g3qe g # df, LOW aeeqz § ou o it foraedy warerand =
If a 3-input AND gate has eight input possibilities, how many of those
possibilities will result in a LOW output?

1

oo

2
5
8

wy s1e7 qronfis &, wufi o (N1) qor g o (N2) . @ gt Bia @
In a step down transformer primary turns (N1) and secondary turns (N2) are

related by

a. NI=>N2

b, NI<N2

¢. NI=N2

d. =90 %9 w15 76/ None of the above

4
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drar o St § W s S e eRe L. a3

Electrolyte used in lead acid battery is

a. drifirm segieags (KOH) / Potassium Hydroxide (KOH)

b. e werfe e (H,SO4) / Dilute Sulphuric Acid ( H,S04)
c. g wftis (HCL) / Hydrochloric Acid (HCL)

d. sremensd ferm / Alkaline Solution '

afe g a6 Hrerafy 0.5 freft 93 ¥ A gl smafir 2
If time period of a sine wave is 0.5 milliseconds then its frequency is
a. 20Hz

b, 200Hz
c. 20000Hz
d. 2000Hz
U AEshEE 5 g
A Microsoft Windows is ...,
a. fEm el / Operating system
b.  dif% gum / Graphic program
c. =€ wAR/ Word Processing
d. serw Wum / Database program

64 x 1 sgraw = forraem 3g Fhad 2 X 1 sigedree o1 afrervesar s

Number of 2 x 1 Multiplexers are required to implement 64 x 1 Multiplexers
a. 60 '

b. 61

c. 62

d 63

U Yot T Aed o o fere Rl ot o at R W e, % G B

Shifting a register content to left by one bit position is equivalent to
a. @&« / Division by two.

b. ‘r@sien/ Addition by two.

c. =¥ WA/ Multiplication by two

d. ¥ =erm/ Subtraction by two.

- 8051 gm0 Yenfera siawrad i 9T .o, gt
The number of interrupts that can be handled by 8051
a. 3
b. 4
c. 5
d 6
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po o

w SR fine-eitg % forg weare gt § fraw 3u wRaf €7
The truth table for an SR flip flop has how many valid entries?
3

2
4
1

frerfafiaa % & <9 #.dy (CPU) Fdm@ ses g ?

Which of the following are the two main components of the CPU?
faior g wd 9= / control unit and registers

dsfied o e WA / registers and main memory

frizo gfte w§ ALU / control unit and ALU

ALU @ aw / ALU and bus

oo oo p

foer & & o e tsrep g1 ot leres <6t foranfearer fam < weme @
A full adder can be implemented by the following gates

a. 2XOR,2AND,1O0OR
b. 2XOR,2OR, 1 AND
¢. 1XOR,20R,2AND
d. 2XOR,20R,2AND
% U @ b fSeig-giy 27

Which of the following is a universal Flipflop?

a. 3 fem-wiw/ T Flip flop

b. L& e / JK Flip Flop

c. @ fim-weiiv / D Flip Flop

d. vwgam fee-wiw / SR Flip Flop

s 8051 =t g wenfir foeam man wdt EA s 9= (HIGH) &, @ wommemmommmeemee- T 7w i
R Y THW FII 5 FHUN © '

When the 8051 is reset and the EA line is HIGH, the program counter points to
the first program instruction in the: '

a, =@ w9l / external code memory

b. il e Amd / internal data memory

c. = eRT EAN / external data memory

d. sriafe wke Y internal code memory

foert firer frerfirdl # 5 Fore srgearshifers widec 37

How many different states does a 5-bit asynchronous counter have?
a, 4

b. 32
c. 16
d 8
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The linear variable differential transformer transducer is
a. i giegget / Capacitive transducer .

b. 3 ¥ giwggat / Non-inductive transducer

c. W gggrer/ Inductive transducer

d.  gfedet ziagyue / Resistive transducer

I afige § Sieedtet fET ..., 7
~ The voltmeter reading in the circuit is
100 ka
AN

a. 5V
b. 0V
c. 1V
~d. 2.5V
CE T, oo, % ofrer v BIT % ammseqe wifirererr #7 smvas B i

In CE configuration, the output characteristics of a BJT is drawn between

a. Icand Veg

b. IE and VCB

¢, Ipand Vg

d. IE and VCE

T AT (SCR) oo g d
SCRis__

a. 3. faften ardfmet / Unidirectional thyristor

b. w- stgww wEiwex / Uni-junction thyristor

c. Tg-Rfims eméier / Bidirectional thyristor

d. & — s gfee / Bi-junction thyristor

PT-100 & =fem RTD # i 0° 4. v s 100Q #1 o i w1 et amosre ris

3.9 X 10 %/ °C &, 3 10° &, v ¥ shye 5 v e
PT-100 is a Platinum RTD whose resistance at 0° C is 100Q. If the resistance

temperature co-efficient of Platinum is 3.9 X 10 %/°C, then find its resistance at
10°C

a 139Q
b. 103.9Q
c. 61Q

d 9618
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fefafiaa womt ¥ @S-t Fem a5 87
Which of the following statement is not correct?
a. U dicetier ¥ oifd == vl gk wfke

Volimeter should have a very high resistance

© b, e e § otfy f vy el

An ammeter should have a very low resistance
c. w e d arfa P wide g fg
A shunt should have a very low resistance
d. e e dicadier e ¥ ged g dar g
An electronic voltmeter draws appreciable current from source

e MOSFET oo, IUHT BT B
Power MOSFET is device

a. o {Efa EygEt / Current controlled bipolar

b, uw i w gt / Current controlled unipolar
c. e frif fg-geft / Voltage controlled bipolar
d. e Frifia w - gt / Voltage controlled unipolar

frerferfian # @ # TR Wi ¥ gefga g ?
Which among following is associated with Microsoft Excel ?

a. Tes W / Graphic program

b. == wwgt/ Word Processor

c. Y9&m/ Presentation

d. wevi / Spreadsheet

FrefRay w1 @ A9 Fo wE T 27

Which of the following statement is not correct?

a. TRIAC ws fg-Rftm SCR #/ TRIAC is a bidirectional SCR

b. TRIAC uw =m 9w susww g/ TRIAC is a four layer device

¢. TRIAC < feensif # genfere 81 ¢ wear & / TRIAC cannot conduct in both
directions ‘

d. TRIAC s 3 «ffar 3wsw 8 / TRIAC is a 3 terminal device

el i giforee 3 ey # freafirfaa oot wdt &
The following statement is true in case of bipolar junction transistor

a.  hoeet um Ufiet unr ¥ @i 8l 8

Collector current is greater than emitter current
b, = g Ufiet g @ siftre €k ®

Base current is greater than emitter current

C.  Thel¥el {9 o0 & ¥ 2l &

Collector current is smaller is smaller than base current
d. 9% g 3T Uit o woEe g ¥ FH Bl

Base current is smaller than both emitter and collector current
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Input impedance of ideal op-amp is
a. U/ Unity

b. ew= / Infinite

c. A/ Zero

d. 100

'@mmmm%mwmﬁ ........... wmfdg ¥

An optocoupler is an integrated circuit consists of in the same
package

a. LED tasimeris/ LED and zener diode

b. LCD wMOSFET/ LCD and MOSFET

¢. SCR wisms/SCR and Diode

d. LED wwaeme/LED and photo diode

Freaferflaa 3 & sl ar aftwer e (positive) ieds %1 e s
Which of the following circtit employs positive feedback
a. TREwrt/ Rectifiers

b. afem / Oscillators

¢.  wadw/ Amplifiers

d. @/ Filters

=1 e @7 amge wfdy e, BT g

Equivalent resistance of the below circuit is
TkE2
TROY
T
Tk

A B

a.  1kQ

b.  4kQ

c. 250€

d. 20Q




45 freaferfaa o H

The following circuit is
R

D: /\ D2 %

\'A Vo
l Vri = ——Vr2 l
O - -0
a. =/ Clamper
b.  femw/ Clipper
c. Tam=s/ Regulator
d. wss / amplifiers
46 gt 5 o B A e e A5t

The charge of the body after losing electron becomes
a.  FOTHAF W wERE / Negatively charged

b.  uarerk w9 § sAfE / Positively charged

c. dgdw v ¥ frewnfe / Electrically neutral

d.  3viw § & = 7 / None of the above

47 it W gurf % foefim €9 w RCAEIG R
Heat Sinks in Transistors reduce the
a. it dimn / Transistor Power
b.  wf@wamwm / Ambient Temperature
¢.  sH @uwia / Junction Temperature
d. == g / Collector current

48 Ferferftaa sremor v § & S, i aif g are sl s Qe F R et T () @
AT :
Whick of the following transmission line use outer conductor (braid) for
avoiding radiation loss and external interference?

a. W/ Fibre

b, ww Fewr / Twisted wires
¢. Tergr 99/ Coaxial cable
d. wwdg/ Open-wire

10
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The following op-amp circuit acts is

e
—

R

oA —
a. ureeH /Integrator
b. fadgs / Differentiator
c. dwes st/ Voltage follower
d. ¥ wadds / Differential amplifier
st werr Qe WA ¥ oipat ¥ AT o Wi & forg fapa s 8
Digital storage oscilloscope is used to measure amplitude of signals
a. sashry / Sinusoidal
b. . fagsft / Triangular
c. ot/ Saw tooth
d. swrewdft/ All the above

o e SRE % SR % 0 o v e o R wre, e, 79, T i R UT HT NS A
The resistance value of a carbon resistor having red, black, green and silver color
bands 1s ... : '

a. 2M ohms +/- 10%
b. 20M ohms +/- 10%
¢. 200M ohms +/- 10%
~d.  20M ohms +/~ 5%
Wentf3Teh HIge BT L. arrf % frepe & i 3
. Optical fibre cable operates near ~---------- frequency.
a. 80GHz
b. 800 MHz
c. 800 THz
d. 80KHz
et g T # weeyet o
Power Amplifier circuit is essential in
a. b/ Receivers
b. wigew / Modulators
c. 3ffm/ Transmitters
d. €y / Detectors

11
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o i S @ wEilar ¥ ST IR STRERT T . ST SRR SRS B @)

An ideal diode presents ---------- when reverse biased and --------when forward
biased.

a. gen, wmé / Open, Short

b. W, g/ Short, Open

c. e, gear/ Open,Open

d. =, wi# / Short, Short

ST HIGE AISHE TT ST Tge 1 B TR
The Disadvantage of Frequency Modulation over Amplitude Modulation scheme
ig ~m-n.
A, I MIGEW el ot HTEEHA &
High modulating signal is required
b. = a5 W Y AR B
High carrier signal is required
c. WIAR
Notse is high
d.  geww s fRrear i sevasd 3
Larger bandwidth is required

A coupling capacitor is

ws DC s/ a DC short
uw AC gar/ a AC open
w DC garwwd AC mé /a DC open and AC short
w DC ad g AC g / a DC short and AC open

2 =R

hferer et Feadh feraur yorredl 3 forg 2T W9 R SRR A . 2l
Most widely used transmission line for Cable TV network distribution system is

a. wHwag/ Sjngle wire

b. #emeraq/ Twisted wire
c. wg/ Fibre

d. @y e / Coaxial cable

Major advantage of Fibre Optic Communications compared to Line
communication is

a. = fawm/ More Bandwidth -

b. afiE =i / More Interference

c. @/ Cost

d. <==aw wet &fa / Higher power loss

12
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FM siftmiee o, s ...,

In FM receivers, amplitude limiter

a. - 7 W% gl ) vaftia wer
Amplifies the low level signals

b, e TR % ddadl i afor w2

Attenuates the low level signals
C. AT Herat § feft ufad ot Fesrer Jar B
Eliminates any change in signal amplitude

“d. Il e
All the above
T Fogeias HHT § e A S L., i) 21

“An emitter follower has a voltage gain that is

a, 1%/ Lessthanl

b. 10 & a1y / Greater than 10
c. 1% sl / Greater than |

d. ¥/ Zero

i3
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